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1. & f(u) TF, z=Ff(Inx + %), W xzy + y?zy = .

2. 9@ (x+y+z)e*=3e &5 (1,1,1) &ty n-F @ 542
%

3. & f(x,y) = x?cosy + y(x — 1)arcsin(tanx), ¥ f,(1,0) =

1—cos(xy) __
X2+y2 [ —

4. IR limy ), 0,0

. x+y
5- ﬁF& I'mx2+y2—>+oo XZ—Xy+y2 — .
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ﬁl‘& Ilmy_>0+ fo (1+X;|y)()l/y
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CBF(x) TE, I(y) = [f (x—y)f(x)dx, 1 I (y) =
8. HHRARMH I = [Fdx[le dt =
9. Xz= arccosf, ME#ESdz=_

10. & f(x,y) = xVy*, W f /25 (1,1) & &y oA df(1,1) =

3 z=x2+y? ..
11. ¥ & AR (1,1,2) 8% T4
2x%y 4+ 2y — 22 = 0,
#
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12. @ x> +2y2 +322 =6 4% (1,1,1) RGEXRFAEH
13. ffu=x>—2xy+3y? £& (1,1) & T @ FHER KA
A

14. Lz =1z(x,y) REHA 23 — Ixyz = 1 HA R 2 H &, N

Zy =

15. F# cos (x +y) £ % (0,0) &, # Peano & o(x? +y?) &
Taylor & X4 cos(x+y) =

HIF HAEF AR A2 5+ B (AP F X AL 5T M)



16. & f(x,y) = arctan{™x, 1 £,(0,0) = , £,(0,0)

17. & f(x,y) = x4+ (y — 1)arcsin\/§, ) fe(x,1) =

18. &R F f(u,v) FLETH, Tz(x,y) = f(xy,x —y), W

dz =
3 _ X _ y 2 s X 3 D(u,v) —
19. Behftu = V! v= e # Jacobi 77| X A B0cy)

HIF HAEF AR A2 5+ B (AP F X AL 5T M)
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20. ﬁis’iﬂk%}x =e'+ U3, y= e — V3 ﬁ_l‘iﬂkg‘]’u = u(x,y),
v=v(xy), £ (u,v) = (0,1) B, (x,y) = (e,0), M4 F4

%(ev 0) =

21, eHHKu=x>+y? —xyz &% (x,y,2) = (1,0,1) & &4

RA@An MARER G =

22, ETHHHK u(x,y) HZu(x,x?) =1, Hue(x,x?) =x, 1

uy (x, x2) = .

HIF HAEF AR A2 5+ B (AP F X AL 5T M)



23. & x=t,y=2cost, z=3sintEt=F A WEFT4
A

24. i@ z+Inz=y+Inx £ & (x,y,2) = (1,1,1) & n-F @ %
A

25. & F(x,y) = [y sin(xt)e~»dt, 1] =B i &4 § 4

8%F _
dxdy (Oa 0) -
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HHAS 1 2/

1. XHE

fxy) { P (x0y) #(0,0),
0, (x,y) = (0,0).

B A AT, AAEd. (i) SRERELRZFEL? (i)
o B SR B AE 6 P A 3 .(0,0) #2£,(0,0) R E A 47 £ 4
f, KBEAME SR (i) HRARSLATTH, £TH, £
XA
2. RBKF(xy)=x>—xy+y? EHNEEERAEX2+y? <1L
9 3K KAE A= 3 /IMEL

HIF AF BARS A2 %+ (I K 3 A)



HHAAF 3, 4,54

3. & f(x) AWK iE[0,1] Lik%, £F K (0,1) L& 4T
A F(y) = [if(x)|y — x|dx, 590:% % F(y) &M KH [0,1] L%
%, £FFRE (0,1) L= k& LT, HKF(y).

4, H+H 7 X5 ) = 0+°° e_x_xe_zx sin xdx.

5. BHFEF(x,y) =x+y+ %, wFaF—FRA Ri :x >0,
y > 0. Fl&Hf(x,y) £ R LR E A AR KA R ML, 55
HEd., ARBEFLEGEILT, Kl g4 x14.

HIF AF BARS A2 %+ (I K 3 A)



T HAAF6, 7, 84

6. EHKz(x,y) EEFFRy >0 LHrE ST, #UN>
TA 24x — yzgy = 32y HEBRU=x—2§, v=x+2, &
# AT x = x(u,v), y = y(u,v). KFH w(u,v) Hiik 26
wHFAZ, £ F w(u,v) = z(x(u,v),y(u,v)).

7. XAB & (x,y,2) = (0,0,0) H F 5, WA &AL KRG

5x2 4 3y? + 722 = 1 9 K 774k, MRAFIEAK H R RRE K.

8. HAGLZTEWN Ay

+ool_ —ax?
)a) = / ST dx,
0

x2

HFa>0. (BF: THMEuer RHAK [FPe dx = ¥T).

HIF HAEF AR A2 5+ B (AP F X AL 5T M)



5 AE 40

)
{ x,:y+kx(x2+y2)7 xl:%v
y = —x+ky(*+y?), v =5,

EMALARXx =rcosh, y =rsin@ TR T FERY AL,
10. KKFK u = xYy?z* (x,y,z > 0) 695
11. & f(x,y) £R? L& 4T, Bf(1,1) =1. ita=fi(1,1),

b="fy(1,1). L P1(x) = f(x,x), P2(x) = f(x, $1(x)), - -+,
®n(x) = f(x, Pn—1(x))- K ¢:1(1)

HIF AF BARS A2 %+ (I K 3 A)



HAE 12, 13, 144

12, & f(x,y) ER2 EZkELTH, x =x(t), y=y(t) £%F
R bR =k i TR 32 u(t) = F(x(t), y(t)), & u”(t).

13. & f(x,y,2) & R3 LDk RS, T u(x,y) = f(x,y, xe’),
KR F ny(xa Y)'

14, Kd—W1lamn 7 A2 69 45 ° R

2
{ B =X T
z(x,0) = x, z(0,y) = y>.

HIF AF BARS A2 %+ (I K 3 A)



15. iEAFAEX? —xy+2y2 +x—y=14% (x,y) = (0,1) B
WHRET—ACP Ay =y(x) HLy0) =1. £y (0),
y”(0), y"'(0).

16. Kf(x,y) =xy? —x EHAELEHED: x> +y2 <1 LM%
KAB A= R MEL

HIF AF BARS A2 %+ (I K 3 A)



S

T HAF 17, 184

17. & f(x,y) = e +y3 — 3ye*. (i) K f(x,y) WA A5,
Bk 2 A SR &, LI MALE B AL (i) K F(x,y) &
X HeBi &AL 8 — B Taylor 7 X;; (jii) KAKF#Ef(x,y) =3
& (x,y) = (0, —1) & &0 & A ik & HAZ; (iv) HEBAH AL
f(x,y) =3&% (x,y) = (0, —1) HLEHZ T —ARZH

x =x(y), FEKx=x(y) £y =—1%#—F Taylor %7 X.

18. K&K f(x,y), £F df = (y? + ye?)dx + (2xy + xe?)dy,
A f(x,y) £R? £ C2#.

HIF AF BARS A2 %+ (I K 3 A)



IR 1, 248

CEFRHF(x,y) = x2e Y A F @R LA LR KM, B
B E (x0,y0) € R, 77 F(x,y) < f(xo,yp). #—F Ktk ¥k
f(x,y) #7 % # % KA.

2. & f(x,y) WA F@R? L k&S THBH. BIEF(x,y)#
Hesse 46 [ &t & iE &, BP 52 b AR 46 [

fXX X
’ ](x,w

fyx fyy

H(x,y) = [

ERZ, V(x,y) €RE GEREHHKF(x,y) £S5 A A5 A

HIF HAEF AR A2 5+ B (AP F X AL 5T M)



JER AL F 3, 4 A

3. % f = (f,fp,-- ) : R" = R" H &L TRMH. Bk (i)

Wedit £ #9 Jacobian 4E B4 40 3F 3, B n B 4E B DF(x) = [53](x)
FEH, Vx € R (i) lim)q 00 IF(X) || = +oo. IEHABSH A E
B, BEE—EEER", 7€) =0.

4. %D = {(x,y),x € R,y € [a,b]}, f(x,y) £ D E#%:. T
d(x) = min{f(x,y),y € [a,b]}, EEPAHKHK o(x) £ R Lt %:.

HIF AF BARS A2 %+ (I K 3 A)



5. & f(x,y) #rg(x,y) £R? L& & T, &

(i) Fu(x,y) = 8y (x,¥), fu(x,y) = gy (x,¥), V(x,y) € R
(i) F2(x,y) +&%(x,y) = 1, V(x,y) € R?,

EWF(x,y) F2 g(x,y) 4 & & F K.

6. X J(y) = 0"'0°e_"2 sin(2xy)dx, y € R. iE# J(y) TX A
Jy) = e_yzfoyetzdt.

HIF AF BARS A2 %+ (I K 3 A)



7. % D AF @A RTFH, f(x,y) HiAR OD Ltk %%, iE
MESHLE-AEARMBED RS, £D LA C2eHHKubL

{ uf, +uly, =e", (x,y) €D,
u="f, (x,y) € OD.

HIF HAEF AR A2 5+ B (AP F X AL 5T M)



